Pedestal Distribution (average fADC count between 52 - 88 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)

- | | | hint

B Entries 100004
160—

B Mean 1.655e+04
140 :— Std Dev 1088

B Underflow 0
120—

: Overflow 64
100 —~
801 —
60 —
40 —~
20 —

O B | | | | | | L.l | |
0 5000 10000 15000 20000

Integral [fADC Counts]



220
200
180
160
140
120
100
80
60
40
20

Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)
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